

Chapra -1

Agg. No. :-

Rate :- 3.00 % Below

This agreement made the 25th April 2023 Inne Anowed - between Bihar Rural Road Development Time Allowed - Month AUTHORITY (Govt. of Bihar) Authorised address at 5th floor, Vishweshwaraiya Bhawan, Jawaharal Nehru Marg, Patna- 800013, Executive Engineer, R.W.D., Works Division, Chapra - 1 (herein after called "the Employer") of the one part and

Mithilesh Kumar, Vill. - Bhagwanpur, P.S. - Awatar Nagar, Distt. - Chapra, (Bihar) (herein after called "the Contractor" of the one part.)

Whereas the Employer is desirous that the Contractor execute Const. & Maint. Of Road Tahirpur to Yadav Tola Kurmi Tola Itwa Loha Pul road under MMGSY (S.C.) (Length - 2.730 K.M.) Block · Garkh, Dist.- Saran (hereinafter called "the Works") and the Employer has accepted the Bid by the Contractor for the execution and completion of such works and the remedying of any defects

New Agreement Amount Rs. 20688916.00 Original Agreement Amount Rs. 19554745.00

Supplementary Agreement Rs. 1134171.00 (Eleven Lakh Thirty Four Thousnad One hundred

NOW THIS AGREEMENT WITNESSETH as follows:

In this Agreement, Works and expression shall have the same meanings as are respectively 1. assigned to them in the conditions of contract hereinafter referred to and they shall be deemed to form and be read and construed as part of this Agreement. 2.

In consideration of the payments to be made by the Employer to the Contractor as hereinafter mentioned, the Contractor hereby covenants with the Employer to execute and complete the Works and remedy any defects therein in conformity in all aspects with the pro-

- 3. The Employer hereby covenants to pay the Contractor in consideration the Execution and completion of the Works and the remedying the defects wherein Contract Price or such other sum as may become payable under the provision of the Contract at the times and in the manner prescribed by the Contract.
- 4. The following documents shall be deemed to form and be ready and construed as part of this Agreement viz.
 - (i) Letter of Acceptance
 - (ii) Notice to proceed with the works;
 - (iii) Contractor's Bid
 - (iv) Condition of Contract : General and Special
 - (v) Contract Data
 - (vi) Additional condition
 - (vii) Drawings
 - (viii) Bill of Quantities and
 - (ix) Any other documents listed in the Contract Data as forming part of the Contract.

In Witness where of the parties there to have caused this agreement to be executed the day and year first before written.

The common Seal of Employer

Was here into affix in Presence of (i)

(ii)

Signed Sealed and Delivered by the said to

Mithilesh Kumar, Vill. - Bhagwanpur, P.S. - Awatar Nagar, Distt. - Chapra, (Bihar)

In the presence of (i)

(ii)

Binding Signature of Employer

Binding Signature of contractors

Extensive filtinger

I. W. D., (W) Division,

Chapra-1

Name o	f Work:-Restoration of Road From Tahirpur	To Yaday T	ola K			1
Contrac	t No: Civil Works/			ni Tola Itwa Pi	ul (Damage By Flood).	71)
845	A STATE OF THE PARTY OF THE PAR	SCHED	ULFOR	WORKS	Alvaria Militra La Rescolla	
SI. No.	Description of work	No. or Oty	Unit		Estimated Rate	AMOUNT Rs. P
1.00	Providing & Fixing of Working benchmark Pillars 21nos. per km & 4 Nos. of reference pillars required for 1 Km. as per drawings given and direction of E/I	2.73	KM.	7856.72	Words Rupees Seven Thousand Eight Hundred FiftySix Paise SeventyTwo Only	21448.85
2.00	Clearing and Grubbing Road Land (By manual means) including uprooting wild vegetation, grass, bushes, shrubs, saplings and trees of girth upto 300mm, removals of stumps of such trees cut earlier & disposal of unserviceable materials & stacking of serviceable materials to be used or auctioned upto a lead of 1000 m including removal and disposal of top organic soil not exeeding 150mm in thickness as per technical specification-clause 201.1 and direction of E/I	1.64	На	51133.76	Rupees FiftyOne Thousand One Hundred ThirtyThree Paise SeventySix Only	83757.10
3.00	Excavation for roadwork in soil usin manual means for carrting of cut earth to embankment location with a lift upto 1.5 m and lead upto 1000 m as per Technical Specification Clause 302.3	48.26	Cum	81.14	Rupees EightyOne Paise Fourteen Only	3915.41
4.00	Construction of embankment with approved materials deposited at site and obtained from roadway cutting and excavation from drain and foundation of other structures graded and compacted to meet requirement of Tables 300.1 and 300.2 as per Technical Specification Clause 301.5	28.95	Cum	126.24 A DD	Rupees One Hundred TwentySix Paise TwentyFour Only Rupees One Hundred EightyFour Paise Thirty Only	3654.6
5.00	Construction of Embankment with material obtained from borrow pits with a lift upto 1.5 m, transporting to the site spreading, grading to required slope and compacting to meet requirement of Tables 300.1 and 300.2 with a lead upto 1000 m & 100 m as per Technical Specification Clause 301.5.	1636.30	Cum	184.30	Rupees One Hundred EightyFour Paise Thirty Only	301570.0
6.00	Flexible portion-Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with lead upto 1000 m & 100 m as per Technical Specification Clause 303.1. (Including Royality & Labour Cess).	4043.17	Cum	210.88	Rupees Two Hundred Ten Paise EightyEight Only	
7.00	Rigid portion-Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with lead upto 1000 m & 100 m as per Technical Specification Clause 303.1. (Including Royality & Labour Cess).	42.59	Cum	210.88	Rupees Two Hundred Ten Paise EightyEight Only	8981.

N

9131 23 25.2.23

(100 / 61/20)2

W

Ed Wy Division Chapra-1

- Challa.

No.	THE PROPERTY OF THE PARTY OF TH	No. 57 Qty	Unit		Estimated Rate	AMOUNT
8.00	Construction of granular sub-base by providing coarse graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with vibratory roller achieve the desired density, complete as per Technical specification clause 401.	2032.93		Figure 3346.83	Words Rupees Three Thousand Three Hundred FourtySix Palse EightyThree Only	6803871.1°
g.co	Providing. laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and compacting, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density grading 3 as per Technical Specification clause 405.	775.49	Cum	4073.00	Rupees Four Thousand SeventyThree Only	3158570.7
10.00 P B su of ra	roviding and applying primer coat with itumen emulsion (SS-1) on prepared urface of granular base including cleaning froad surface and spraying primer at the te of 0.70- 1.0 kg/sqm using mechanical eans as per Technical Specification ause 502.	9790.69	Sqm	45.10	Rupees FourtyFive Paise Ten Only	441560.
bit dis sqi tre bro	oviding and applying tack coat with umen emulsion using emulsion pressure stributor at the rate of 0.25 to 0.30 kg per m on the prepared granular surface taed with Primer and clened with hydriloc from as per technical specification louse 503.	9790.69	Sqm	15.52 App	Rupees Fifteen Paise FiftyTwo Only	cted 151951.
pre thic (Ty) grad leve prev in a three finisi	oviding, laying and rolling of close-graded mix surfacing material of 20 mm ckness composed of 13.2 mm to 0.9 mm pe-B) aggregates using penetration de bitumen to required line, grade and el to serve as wearing course on a viously prepared base, including mixing suitable plant, laying and rolling with a e wheel 8-10 kN static roller and hing to required level and grades as per nnical Specification Clause 509.	9790.69	Sqm	244.53	Rupees Two Hundred FourtyFour Paise FiftyThree Only	2394117

127 A. E

2007/2013

 $\sqrt{\mathcal{O}}$

کلا

25/04/013 Solution

SI.	Description of work	No. or	Unit	Marie and		
NO	The state of the s	Qty.		de la	stimated Rate	AMOUNT Rs. P
13.00	Construction of un-reinforced, plain cement concrete pavement, thickness as per design, over a prepared sub base, with 43 grade cement or any other type as per Clause 1501.2.2 M30 (Grade), coarse and fine aggregates conforming to IS:383, maximum size of coarse aggregate not exceeding 25 mm, mixed in a concrete mixer of not less than 0.2 cum capacity and appropriate weigh batcher using approved mix design, laid in approved fixed side formwork (steel channel, laying and fixing of 125 micron thick polythene film, wedges, steel plates including levelling the formwork as per drawing), spreading the concrete with shovels, rakes, compacted using needle, screed and plate vibrators and finished in continuous operation including provision of contraction and expansion, construction joints, applying debonding strips, primer, sealant, near approaches to bridge/culvert and construction joints, admixtures as approved, curing of concrete slabs for 14-days, using curing compound (where specified) and water finishing to	87.87	Cum	Figure 7583.92	Rupees Seven Thousand Five Hundred EightyThree Palse NinetyTwo Only	R4. P 666399.05
14.00	lines and grade as per drawing and Technical Providing and laying of a reinforced cement concrete pipe duct,300 mm dia, across the road (new construction), extending from drain to drain in cuts and toe of slope to toe of slope in fills,constructing head walls at both ends, providing a minimum fill ofgranular material over top and sides of RCC pipe as per IRC:981997,bedded on a 0.3 m thick layer of granular material free of rock pieces, outer to outer distance of pipe at least half dia of pipe subject to minimum 450 mm in case of double and triple row ducts, joints to be made leak proof, invert level of duct to be above higher than	3.00	No.	836.58 Appr	Rupees Eight Hundred ThirtySix Paise FiftyEight Only	2509.74
	ground level to prevent entry of water and dirt, all as per IRC: 98 - 1997 and approved drawings. Reinforced cement concrete M15 grade boundary pillars/local stone of standard design as per IRC:25, fixed in position including finishing and lettering but excluding painting as per drawing and	20.00	No.	506.00	Rupees Five Hundred Six Only	10120.0
16.00	Technical Specification Clause 1704 Reinforced cement concrete M15 grade kilometre local stone of standard design asper IRC:8 fixing in position including painting and printing, etc as per drawing and technical specification clause 1703.(i) km stone	4.00	each	2206.22	Rupees Two Thousand Two Hundred Six Paise TwentyTwo Only	. 8824.6
17.00	iii) 200 m stone	11.00	each	621.73	Rupees Six Hundred TwentyOne Paise SeventyThree Only	6839.

W. B. Chapra-1 On

SI Description	No.	or Un	nit -		
providing and fixing of Retro refle	三	を		Far	
The Lationary , manualory and inform	20		STATE OF THE PARTY	Estimated Rate	AMOUNT
I hoard as per into tor illade of 4	100,000	No.	Figure	1	Rs.
I Link MS Steel doly Stove Willia Cola			3582.12	Rupeas	7164.2
I and gray colodi on back with	100	THE WAY	,	Rupees Three Thousand	/164.2
1 Bactive border of 65 mm width	- CO CONTRACTOR OF THE CONTRAC			Five Hundred EightyTwo Paise Twelve Only	
I leavined letters and rigures with ten	A44 /302/33.33/3			Welve Only	
line endineering grade as per ola	The second secon		14.19	1	
1 1,701 3 9 01 MORD for full al road of road	A. 17 (2018)	SHEW.		1	
1-bade and colour supported and walst-	No. of the last of	# To 19 19 19		1	
47mmx47mmx12swg sheet tube fin	d on	1		ł	
fixed to the ground by mean of prop	mly	a land		1	
designed foundation with M15 gra	erty				
				1	
600mm below ground level as p	m				
approved drawing clause 1701.2.2. (6	er	a design	No.		
mm equilateral & triangle	800	1000		1	l .
				1	
1000 600 mm circular				1	
19.00 600 mm circular	,2.00	-		1	
		No.	4740.23		
500 mm to day			40.23	Rupees Four Thousand	9480.4
20.00 800 mm x 600 mm rectangular	200		/	Seven Hundred Fourty Paise	
	2.00	No.	1011	TwentyThree Only	
	/	1	4643.72	Rupees Four Thousand Six	9287.4
21.00 600 mm x 450 mm rectangular			-	Hundred FourtyThree Paise	
21.00	5.00	Ma	1	SeventyTwo Only	
369	/	No.	10404.89	Rupees Ten Thousand Four	52024.4
the and last		1			52024.
200 Providing and laying of hot applied	546.00	-	1 2		
thermoplastic compound 2.5 mm 44.	0.00	Sqm	735.44	EightyNine Only	
including reliectorising glass heads @ ac			700.44	Rupees Seven Hundred	401550.2
igms per squii area, thickness of 2 E				ThirtyFive Paise FourtyFour	
lexclusive of surface applied glass bond	1	1 1		Only	
per IRC:35 .The finished surface to be	IS	1 1		1	
level uniform and from from the	9	·:		1	
level, uniform and free from streaks and	d	'		1	
holes.			1	1	
Planting of trees by the road side (Avenue	050.00		3		
trees) in 0.60 m dia holes, 1 m deep dug in	258.00	No.	822.26	Rupees Fisht Hand	
the ground, mixing the soil with decayed	וי		20	Rupees Eight Hundred	212143.
farm vard/sludge manuscript decayed				TwentyTwo Paise TwentySix	
farm yard/sludge manure, planting the	.1	- 1	- 4	Only	
saplings, backfilling the trench, watering,	1 1				
lixing the tree guard and maintaining the	1 1	- 1			
plants for one year	1 1	- 1	1		
Providing and fixing of typical informatory					
sign board with the state of typical informatory		No.	9348.81	Rupees Nine Thousand	
sign board with Logo as per MORD				Three Hundred 5	28046.
specifications and drawing. Three MS	1 - 1	- 1		Three Hundred FourtyEight	
riales of 1.6 mm thick, top and middle plate				Paise EightyOne Only	1
duly welded with MS flat iron 25mm x 5m	1 1	- 1	1	_h	rea
size on back on edges. The lower plate will		- 1	1	· , e 0	100
be welded with MS and the follower plate will	1	- 1	- 1	11/10	
be welded with MS angle iron frame of	1	- 1	- 1	Paise EightyOne Only	
25mm x 25mm x 5mm. The angle iron	1	- 1		000	
"alle of the lower most plate and flat iron l	1		Trans	, , ,	
name of middle plate will be welded to 2 l	- 1	1	PAR.	1	
los. 75mm x 75 mm of 12 SWG sheet	1	1		1	
ibes posts duly embodies	1	- 1		1	
bes posts duly embedded in cement	- 1	- 1	- 1	1	
Oncrete M-15 grade blocks of 450mm x	- 1		1	1	
500mm 600mm below around I	1	~:	1	1	
" THE LOD MOST diamond plate will be	1	- 1	1	1	
Williams by 17mm y 17mm of	ł	1	- 1	ı	
SWG steel plate by 47mm x 47mm of	1	1	- 1		
- Side Diale tube All M.Cill be I	1.1	1 -	- 1	1	
	- 1	. I	j	ı	
	- 1		- 1	I	
	- 1	- 1	- 1		
nt of superior quette	1	- 1	1	1	
	1	- 1	1		
colour. All sections of framed posts	- 1	1	ł		
steel tube will be painted with primer	ı	1	I		
two coats of epoxy paint as per	, I	-	I	I	
ving Clause 1701 and Annexure 1700.1		1	I	1	
and Annexure 1700.1	1	- 1	, 1	I.	
	1	- 1	/	1	
	- 1	- 1	1 2.		

 \mathcal{Q}

911.23

Consorper's

W

Executive Physiology

Od Chapra-1

Chapra-1

Chall

	1	Description of work	N=	44			
	16		No of	Un	E		
	1	Brick masonry work in cement mortar 1:3 in	· 为是国际中央			Estimat	
	Ir	marapet extering		Cur	Flaure	Estimated Rate	AMOUNT
		as per drawing and technical specifications as per drawing and technical specifications (lauses 600, 900 and 1208.4	S		5833.88	Rupe	Rs. P
		The state of the s			-		33603.15
	1	Providing PCC M-20 architectural coping or	24.00			Hundred ThirtyThree Paise EightyEight Only	
	1 /X	the lop of wing wall, return wall etc.	24.00	RN	1	,	1
		Inacification Clauses 015, 710 and	44.4		408.15	Rupees Four Hundred Eight	9795.60
	11	14004.3.11	Latery .			Paise Fifteen Only	9795.00
	1/	Plastering with cement mortar (1:4) on	32.45		254		
	1 20	brick work in sub-structure as per Technical specifications	33.12	Sqn	15		
	1	the work in excavation for foundation	100,00		157.89	Rupees One Hundred	5229.32
	28.0	Lanctures upto 5.0 iii depth as per draud	119.19	Cun	Sale Maria	FiftySeven Paise EightyNine	
1		and technical specification clause 1104	_	Cun	258.43	Bus	30802.79
1		M15 (PCC 1:35:5)	- 4		/	FiftyEight Paise FourtyThree	30002.70
1	29.00	Providing M15 (PCC 1:2.5:5) as levelling course in foundation :- Providing PCC M	11.85			Only	4
1	1	lie (1.2.5.5) Concrete for Diain Concrete.		Cun	5251.05	Punces 5th Ti	62214.44
ı	10	lonen toundations complete as per drawing			/	Rupees Five Thousand Two Hundred FiftyOne Paise Five	022 1427
L		land technical specifications Clause one				Only	
ı		1803, 1202 & 1203	1,00				
	30.00	Brick Masonary work in cm 1:4 in head wall	122.43	+-	A STATE OF		
		complete as per drawing and technical specification clause 1109 in cement mortar		Sqm	5877.36	Rupees Five Thousand Eight	719553.43
		1:4		1		Hundred SeventySeven	
	31.00	Providing and laying RCC pipe NP-3 for	-			Paise ThirtySix Only	
1		culverts on first class bedding of PCC M10	30.00	No.	4233.00	Rupees Four Thousand Two	126990.00
		material in single row including fixing collect			/	Hundred ThirtyThree Only	12000
	100	with cement mortar 1:2 but excluding		N21 12	241.00		
1		excavation, protection works,backfilling concrete and masonary works in head walls		Wales			
		and parapets as per clause 1106		To the second			
1		Plastering with cement mortar (1:4) on	007.40		ATTAC		_
1	b	rick work in sub-structure as per Technical	267.40	Sqm	157.89	Rupees One Hundred	42220.4
1		pecifications				FiftySeven Paise EightyNine	
33		royiding 1.5 mm cement punning	56.88	Sqm	46.36	Only Rupees FourtySix Paise	2636.9
	lin	cluding curing carriage of water with all	/		/	ThirtySix Only	2000.0
		ads and lifts as per building specification and direction of E/I			1		
34	_	inting Two Coats on New Concrete	464.94	C	100.00		
	Su	rfaces:-Painting two coats including	404.54	Sqm	108.32	Rupees One Hundred Eight Paise ThirtyTwo Only	A 50362.3
		mer coat after filling the surface with			l	rect	(C)
		othetic enamel paint in all shades on			1	3.0 0110	
		w, plastered / concrete surfaces as per		1	200	eq a	
		wing and Technical Specification Clause	gr ²⁰		PODIO	1	
35.00	170	•			- X X		
00.00	1	1% Labour				1	167238.2
36.00	+						
70.00		12% GST					2006858.3
7.00	10:	KIN TALL					
	locif.	norage (As Calculated on					166444.
3.00		struction)	100	Voor	77531.00	Rupees SeventySeven	
0.00	Main	tainance for 1st year	1.00	Year	77331.00	Thousand Five Hundred	77531
	1				_	ThirtyOne Only	
.00	Main	icia.	1.00	Year	299272.00	Rupees Two Lakh	299272
-	wain	lainance for 2nd year	1.00		/	NinetyNine Thousand Two	299212
					/	Hundred SeventyTwo Only	
.00	Maint	ainance for 3rd year	1.00	Year	484760.00	Rupees Four Lakh	484760
	-""	-mance for 3rd year		A		EightyFour Thousand Seven	13.1,00
			_			Hundred Sixty Only	
00	Mainta	ainance for 4th year	1.00	Year	540471.00	Rupees Five Lakh Fourty	540471
		ior 4th year		~ :	0	Thousand Four Hundred SeventyOne Only	1
		ı			/ 1		

V

25223 25223 (D) or ce

31

Chapra-1

i3

Stone-Stone (China

2.00 Maintainance for 5	th year	No. of Building	iite		
		1.00	一种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种	Umated Rate	AMOUNT
	7 77 78 280 2	"大学" "一个"	ar 596307.00 F	Words Supees Five Lakh NinetySix housand Three Hundred	Rs.
· · · · · · · · · · · · · · · · · · ·	1% Labour	Control of the Contro		housand Three Hundred	596307.
	12% GS1		. 6 r	Silly	19,983.4
Seignorage (As Calo	ulated on maintainance)	100		A Comment of the Comm	19,965.
		12 - 12 Co.			2,39,800.
Total Estimated Cost in	Figures			·	6,292.
Rate in Words	87.	P.	•	2,13,28,779.00 Lakh TwentyEight T SeventyNine Only	2,13,28,779.

25.2.23 A.E Execute Frances

R. W. D. (F) Division:

Revised BOQ approved (from show. 2 to 42) for Re 2,13,28,779] - (Rupers the ware thirteen larch though eight thousand Sevent hundred and smenty nine only).

03 03 विकास सम्मलन पदाधिकारी समीण कार्य विकास

TECHNICAL ADVISER
RURAL WORKS DEPTT.
WORKS CIRCLE, CHAPRA

Superintending Engineer Rural (Works) Deptt. Works Circle, Chapra

Executive in the Division, Chapra-1

receipte 1 sione (Chips) 50